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ü
h
rl

ic
h

vo
rf

ü
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tä

n
d
ig

en
.

D
ie

m
it

*
ge

ke
n
n
ze

ic
h
n
et

en
A

u
fg

ab
en

k
ön

n
en

S
ie

,
w

en
n

S
ie

m
öc
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fü
r

al
le

x
∈

A
.

(L
2)

(J
ac

ob
i)

: [x
,[

y
,z

]]
=

[x
,y

z]
−

[x
,z

y
]

=
x
(y

z)
−

(y
z)

x
−

x
(z

y
)
+

(z
y
)x

[z
,[

x
,y

]]
=

z(
x
y
)
−

(x
y
)z
−

z(
y
x
)
+

(y
x
)z

[y
,[

z
,x

]]
=

y
(z

x
)
−

(z
x
)y
−

y
(x

z)
+

(x
z)

y

E
in

w
ic

h
ti

ge
s

B
ei

sp
ie

l
fü
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fü

r
al

le
x
∈

g
d
ie

M
at

ri
x
-D

ar
st

el
lu

n
g

d
er

A
b
b
il
d
u
n
g

ad
x
∈

g
l(
g
)

b
ez

ü
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